T T TP T

PRI NS Al oWt
Mathematics ( Science Group ) (Ut IL 2ASAE) (IV) (?;fu:l.«) L
Paper : II Group : I SWL~- 'O'Gh-w .r:/fll:; II: 3y
Time : 20 Minutes Objective (52 e 20 1 =D
Marks : 15 Code ; 7987 15 : AN
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Note:- You have four choices for each objective type guestion as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two
or more circles will result no mark.

1. 1 The relation {(1,2).(2,3),(3,3),(3,4)} is: e e i (L2W23),3.3.6.0) b 1
into function J‘l;(uiﬁ) sl (B) onto function u‘@(giﬁﬁur (A)
one-one function u“l.‘;'(u':ﬁ) s (D) not a function .;_.JYJGT(J”@) (C)
2. Sum of the deviations of the variable X™ fromits -« I " VT A A |} S Yy e X/f'al."'( -2
mean is always:
same Ll (D) two » (C) one I (B) zero ¢ (A)
3. The spread or scatterness of observations in a data set is called’ _.;.,t‘ikJ/iu;’,’ K.:JuuiﬂruJ; -3

range =+ (D) = central tendency eSS (C)  dispersion U (B)  average sl (A)

4. Cosec’ 0-Cot*g= -etszs Cosec? @—Cot?d -4
tné (D) 0 (C) 1 (B) 1 (A)

5. A chord passing through the centre of a circle is called: _ 4l¢t'lhf/",-u:?;i.;}f:..;{}£.z_.}b 5
secant &Gk (D) circumference &5 (C) diameter &  (B) radius U (A)

6. A tangent line intersects the circle at: -4.{1‘( _ ;L.}I:JU’J?'.E -6
two points £bG 2 (B) three points 3104 (A}
no point at all uﬁ;u“f,;,bﬁdj" (D) single point 4L (C)

7. An arc subtends a central angle of 40°, thenthe -§»__ SIS IPE ) e 400 TP T

corresponding chord will subtend a central angle of:

80° (D} 60" (C), 40° (B) 200 (A)
8. Angle inscribed in a semi circle is; — Uyt sl e fe S id _8
/ 5
% o Oy T (© %o B Y (A
9. Two linear factors of x° m15x+56_aFé: Bk w £ x*—15x+56 -9
(x+7) and (x—8) (B) (x—T7) and (x+8) {A)
(x:+7) and (:ciS) ()] (x~7) and (x—8) (C)
10. Product of cube roots of unity.isi e ? i _‘z;._',,ﬁ"vP’b{.,,;ﬂJr;ngJK'l -10
3 O A H0) 1 (B) 0 (A)
ol s , s
11. Two square roots of unity are: & 5 8 e 5 LUK 11
@0 (D) o ©. . le @ L-1 (a)
12. Inaratio d:b, 4 is called: S e bt Gt aih o 12
7 Y- is e
equation =i+ (D)  consequent (s (C) antecedent AUE  (B) relation (A)
1316 @:b=X:y then invertendo property is: S e atb=x1y A 13
h v a+b x+y a ¥ o a b
2= o == (0 - (B) Z== @)
a x b ¥ a=b x=y x oy
| - ;o - 12
14. Partial fractions of -———— — are of the form: d-_,r?-,ﬁm,(( _.:_/dsf-f — _14
(x—1){x+2) _ % - _ (x—1)(x+2)
x+8 C ; 2 bl '
Ax+ + ( (D) 4 3 Bx+( (€) Ax +_B_, (B) A " B (A)
x—1 7~ x+2 x—1 x+2 x=1 x+2 x—1 x+2
15. Point (—1.4) lies in the quadrant. bt (L4) w15

v (D) C’Z’f ) W (C) I (B) I (A
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Note :- Section I is compuisory. Attempt any three questions from Section II but question number 9 is compulsory.
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2, Write short answers to any Six parts : (6x2=12) :égfpylﬁ/‘?&ﬂz!{aéf <2
i. Solve by factorization. 3)}2 =y{(y-95) -’:‘.’_';Lfd'.“.ffﬁf i
ii. Write in standard form. ] + ) =3 _avi’/(_)ffd;l_,vdl_-,bw i
x+4 x-4

ii. Define Exponential Equation. Write example. a2l e -gi'..gﬁJ.z.f,uJJ_-,E _iii
iv. Find the discriminant of given guadratic equation. dx? ~Tx—-2=0 _s;f-flﬁlmﬂ’&)s’;r;ud» 2 Jﬂd.r —iv
(4x° ~5x+15) + (x+3) BEE S e ot L SN

v. Use synthetic division to find the quotient and the remainder when: (4)(3 ~5x+15) +(x+3)

vi. Prove that the sum of the all cube roots of unity is zeroc. . bn/i‘,&:;-(__»;?fu%(ﬁé J{lf?_f.fczb Vi

vii. Define Inverse Variation. _EE S i
vill. Find x,if 6:x::3:5, b x 7 6:x:3:5 A i

ix. Find X, in proportion x_l:g::é:-?, _Z.frﬂ”afJ X Bxﬂ_liéitgiil X
7 5 35 7 5 3 5
3. Write short answers to any Six parts : (6x2=12) ..’c‘_.l‘:ai,r.z/;:"".c;lzlgaﬂéf -3
i. Resolve into partial fractions. le—l _Zf.f‘,}f’id,-rfjsjz -
ii. Define Fraction. L S A5 i
i If set M has 5 elements, then find @e"h'umbg\r of Binary _zf;’r,@flﬁJ WindEUr M Fusl 5 £ M oS i
Relations in M. i 3
iv. Find @ and b if \ s < (@=4b-)=(2.] C SiEp b owa v
v. Findthe sets X and y if x%y:{(a',a), (b,a), (c,a), (d,a)} Ji S Vo X 2r Ly

vi. Defil® Intersection of two sets, e .I LE STl s v i
vii. Define Class limits. R o , /e la i
viii. The salaries of five teachers in rupees are as follows, Find range. e (Uf'.ar_u)u_ﬂﬁﬁ;ﬁ LfIéJ; _viii

11500,.12400, 15000, 14500, 14800
ix. A variable X takes given values. Find mean of X; 4,5, 8,6, 2 ,zf.-((,""m!@lzfuﬁgéfwd/ X 2~ Lix
4 Write short answers to any six parts : '\‘ 5 (_63{2 =12) ..Z:.':.:.«Uﬁ/j%:ri}.'hgc-tj; -4
i. Find @ when "\ f{‘}-ﬁm , r=2.5m Lgep 0
i. Simplify to a single function. ,\-\_ "*"szx,Coﬁx N0 SO
i m< B jw a=17cm, b=15cm, c=8cm &t AABC S _ii

i. Ina AABC, a=17cm, b=15cm, c=8cm ,find m< B.

iv. Differentiate between a chord and the diameter of a Héugc,fij}ui/ﬁiéw sl e ALl v

circle with diagram.

v. Define Tangent to a Circle. -gf_é!ﬂdl,fl/ﬁa.}h e
vi. Define Chord of a Circle. LG PSRl P i
vii. Define Circumangle of Circle. LS WPl A i
viii, Divide an arc of any length into four equal parts. -’f{-r‘-jz)fu@/.u sl sf.)’;';&/'u(lj?’Uf -viil

ix. The length of each side of a regular octagon is 3cm, 7 *E;fpl"lblpfb/u’l -47_/'-?&;:3 JUd,df»:diu‘?”.._{'f )




(2)

(A 4T Ldire) - 80 8 Azl cirde §f o)

Note: Attempt any three questions. Each question carries (8) marks but question number 9 is compulsory.
5. (a) Solve the equation by completing square. x“-2x-195=0 _ef_-f'u""(‘}/-j:(:g,-.k_m:mw (a)-5

ﬂuﬁu:.[uﬁ x4 2x7—13x" —14x+24=0 =il -4 3 z'ﬁf uj/;?f‘:}d"f}._rp} (b}
(b) Solve by using synthetic division if 3 and -4 are the roots of the equation x* +2x* =13x" —14x+24 =0
E ‘JJ - 1 I}
e m=A32 o et N n=6 a2 Gl M e n=4 G n=2 me—s i (a)-6

1
6. (a) If mx— and m=2,when n=4,find 7 when n==6 and © when m =432
H

9 "

{b) Resolve into partial fractions a‘:“lm B s # &7 (b)
7. @ I U={123,.,10} U={123,.,10} /i (a-7
A= {1, f%,S,’?,Q} A :{1', 3,5,7,9}

B={1,4,7,10} B ={1,4,7,10}
then verify (A—B) =A"UB (A=BY = A UB &=ty

{b) The marks of six students in mathematics are as follows. _"4?‘:"(:"’”;4/;"7 “U"'?J:;‘Ew J/:Zp,»f;vbufubpéur}’-‘ib Z (b)

Determine variance.

Student fl'...«’u- 1 2 3 4 5 6

Marks .~ 60 70 30 90 80 42

4 ~ 5 - :': % 4
8. (a) If Tang = and Sin0 <0, find the values of  _&hp#zd, @ JFEQLFGLin Sinf< 0 o 'Tan9=—3~ J1 (a).8

other trignometric function at ¢
(b) The radius of a circle is 4cm. Draw a square in and around it. -2 &G s\ o HILU) o HEZ4 ik skl (b)
9. Prove that. If two chords of a circle are congruent _ﬁu;fJﬂLﬁld,-l/:_—,}f/u?u:fd’;b"}s 05 Le ol St -9
then they will be equidistant from the centre,
OR L
Prove that: Any two angles in the same segment 7 slifL _u:ﬁgbg,)':eﬂ;.-ﬁ@x_gi{._ w0 & SRk

of a circle are equal.
109 - 220 - 35000
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Note:- You have four choices for each objeclive type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two
or more circles wili result no mark. .

cemnd] d X (5x+4) =255 +40x+16 =L 1 1
1. 1. The identity (5x +4)° = 25x" +40x+16 is true for:

lwo values of X U5t (B) one value of * ot (A)
all values of X u?‘:"L} (D) three values of X B (C)

2. 1f AC B then A B is equal to: etz ANB 7 ACH % .2
¢ (D) AUB  (C) B (B) A (A

3. Point (—1,4) ties in the quadrant: e tebl (C14) 53
v (D) I (C) n (B) 1 (A)

4. The observations that divide a data set into four equal parts are called: _q_tf.kfz_.fr‘:;ﬂ,ﬁur"xl,:;g_ﬁir‘.z;gul _4
median s (D) percentiles i (C) quartles @itz (B) deciles 208~ (A)

5. The »'" positive root of the product of the _{_.t'll{'.(.‘.r»bi?\;n;i " i Vg TATIE 1 A5 S
X2 Xy X550 X, Observations is called:
median _&-s (D) geometric mean Jw-xkﬁﬁf* (C) mean ksl (B) mode sk {A)
6. If tan @ = /3 then O is equal to: f= W tand=~3 S .6
300 (D) 60" (C) 45" (B) 90" (A)
7. The circular region bounded by two radii and the s Elkdyr Lse I_/i(;u“.;",.'éis?[_uf s Urlsg sy 2 3msbe 2 T

corresponding arc is called:

sector of a circle /“?&v_d,‘?b (B) circumference of a circle k567 (A)
segment of a circle ISy (D) diameter of a circle Hike 2 (C)

8. A circle has only one \ et (it s ) .8
centre  Zr (D) diameter & (C) chord " 7 (B)  secant o (A)

9. The arcs opposite to incongruent central angles 4;_,54:!-_4 Jﬁdf:&béﬁugsljd};jﬂjf 9 e bl -9

of a circle are always:
incongruent J..?*f: (B} congruent Je (A
perpendicular  * Wt (D) parallel g (C)
5, "
10. The meassure of the external ang'l/e ofa r?gular hexagon is: - Smfﬁo;.sf)&wé:u}-x{f =10
T B T T

- (D g% © 3 B 5 A

11. The discriminant of wgz +hx+te=(is: e . -.‘;_;"ﬁaﬁf})s’ gxz +hx+e=0 =bls 11
-b* ~dac (D) ~b% +4ac~. (€) b? +dac  (B) b% —4ac (A)

12. The number of methods to solve a quadratic equation is: c ‘. ' ‘Lg&;)é‘fii.ff_}’f.;:‘;vﬁ» 12
4 (D) 5 {C) W & 2 (8 1 (A)

13, If ¥ G‘% then: ‘x\ P -7 yhee :3 M %

%,
res o =k e Fedie Y
% 2
14. In continued proportion a:b=b:c, Cis  _etlblort _ C e b owa fab=b:c B 14
said to be proportional to @ and b,

none XS (D) means Ak (C) fourth r  (B) third i (A)

15. Roots of the equation 4x —dx+1=0 are: ,uj(_,rjs;d: 4x% ~dx+1=0 =l .15
real , unequai GZ Lot (B) real , equal & Lo (A)

irrational l}bt/ (D)/,, imaginary (i (C)
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Note :- Section I is compulsory. Attempt any three questions from Section II but question number 8 is compulsory.

Vi,

vil.

wiii.

vi.
vii.

viil.

iil.

vi.

Vil

viii.

Section-1_(Jil.»

Write short answers to any Six parts : (6x2=12) :f{_r{fa.«lglﬁf-?érlzljfﬁ—@; =2
i. Solve it: P 4+2x-2=0 gy
ii. Solve by factorization. 3y* = y(y-5) _,’{,ffdfw,gﬁg i
iii. Solve by using quadratic formula. I T ._’fft,l’r.z.db'i'!&un-’édu sp il
iv. Find the discriminant of the quadratic equation. 9x’ —30x+25=0 _ér)%»‘@)b/auv&» 23 iV

¥ -5x+3=0 -u:f_-“:r‘,h’h.//;l)ib 2 J)f’{uju,c.'!iifdﬂf_"/l:l/d.n EERY

. Without solving, find the sum and product of roots of the quadratic equation. ¥ -5x+3=0

Evaluate. w’+w® -5 SE el i
Expréss as a ratio @: b and as fraction in its simplest form. ~£ﬁ£U¢U¢QVTbC/G}| ab oo oo _vi
27 min, 30 sec, 1 hour
3 3
Find X in the proportions. ppgrqgtix !;—; z— (p-q) JEpredd x forf i
ix. Define Inverse Proportion. 4éuy4fJJP} )
Write short answers to any Six paris : (6x2=12) -f-i')s.‘:«i;l.e/"?ﬁplmg’cﬁf -3
i. What is fraction? te ol i
ii. How we can make the partial fractions of '(—;ii; ? ?L,'_?GﬁLng:aC/’JJ;/LS’RJ (x+a;:(x - ~ii
iii. Define Binary Relation. il ' - v A i
w. Find @ and b it (3224, b-1)=(a-7,2b+5) Jisekr b a i
L -zr,-ug XUY § ¥={2,459} 4 X={1,4,7,9} /i v
X ={l,4,7,9} and Y = 2 4 5 9}‘"then f]nd bat )
State De-Morgan's Laws. .. i _’Lf:ug:ufifﬁdjl.d;‘ Vi
Define Range and write its formula. N~ u" - ; L P RE éué’f?i.;&"‘ -vii
Find Arithmetic mean of 200,225,350,375,270, 320 290! Zf’:t’”bfjfdub/ 200,225,350,375,270,320,290 si»* viil
ix._ Find median of 1.9,2.3,2.5,2.7, 2.9, 3.1. | "" .{pb',.w& 1.9,2.3,2.5,2.7,2.9, 3.1 7 -ix
Write short answers to any six parts : { 6):2 =12) " -éhtliﬁ;ép‘fjiﬁd}r -4
Find @ when t=2cm , ¥ d?&cm i & .éf’b" g i
i. Simplify to a single function. tan x.Sinx.Secx  ° LA e 0L i
ek m< A in a=17cm, b=15cm, c=8cm t AABC B i
ina AABC, a=I17cm, b=15cm, c= 8(:'&1 find m<A.
iv. Differentiate the terms with diagram, "A circle and Y S Y e 2L i d it el iy
a circumference ".

_ Define Secant of Circle. _E WAL s v
Define Circumference of Circle. iéh@/'ifbg[_g_z’b _vi
Define Central Angle of a Circle. L PSSl i
Divide an arc of any length into two equal parts. _:':f:r;‘:?ir.“u:%z.if. I fJ;”.QJJp’u‘J: -viil

e AL el

be
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Section - II .2

{ u:’/ &7 Ly < i g /,U[ngé:al:m“:.:.«illrcfaéf b
Note: Attempt any three questions. Each question carries {(8) marks but question number 9 is compulsory.
5. (a} Solve the given equation. 3x 2 +5=8x" ﬁi-r‘;)"f.:,l,-ujfj; {a)-5

i of the squares of the roots of the equation is 2 find k. .f:,_«(}’”‘.:«f":u(k 2 ,.nfb’w'{fz:ujuéal';wf (b)

dhox? +3kx—8 =0

. | i 2 2
6. {a) If E:E—:—é—g; then show that €4 = ij_cqi_e f:«‘_..;l,; Ezizi )’ {a)-6
6 d i b \bﬁ..,.durfz b d f
7 e ;
(b) Resolve into partial fractions —l% LG o a0z )
(x=1)"(x-2)
7.6 I U={1,234,.,10} U={.234,.10} J @-7
A= {1,"’-,5 9} A={1,3,5,?,9}
{l 4,7,10} B:{1,4,7,10}
then verify (B—A4) =B8'w 4 (B—AY=BUAd &=y
(b} Find the standard deviation ' S ' of set of numbers. 9 38,89,8 9,18 ‘ii‘}” k< _5.;7’}@-9; (3]

UG B F G R U Ciee pn VETIE @ s 1 Cosd = ..;.. /i (a)-8

8. (a) ¥ Cos?? _-——% and terminal arm of the angie @ is in quadrant II, find the values of remaining

trignometric functions. v

{b) Inscribe a circle in an eguilateral triangle it JUJ@‘}&J@?@&JFMJ’E' ABC 28pusgigsL- (b)
ABC yjith each side of length Scm.
9, Prove that: A straight line drawn from . (wnfy s A S S (;f,.;/ﬁi'}".’}};gf’(r_-.)r/;f.'_}b ek L9

the centre of a circle to bisect a chord {which is not a diameter) is perpendicular to the chord.
OR l
Prove that: Any two angles in the same segment LAl s Sla e Haak i SiLiRd sl s Sk

of a circle are equal.
110 - 220 - 26000




